THE DWARKA SCHOOL

NURSERY

BOOKS

S.NO	PARTICULARS	QTY.	RATE	AMOUNT
1	NEXT LETTER DELIGHT BOOK A PRIMER	1	149	149
2	NEXT LETTER DELIGHT BOOK B PRIMER	1	149	149
3	NEXT NUMBER EXPRESS PRIMER	1	180	180
4	NEXT COLOURS AND SHAPES PRIMER	1	159	159
5	NEXT LITTLE EXPLORER PRIMER	1	259	259
6	SOM SUDHA AKSHAR SUMAN	1	240	240
7	GRAFALCO PATTERNS	1	170	170
8	GRAFALCO BIG CAPITAL LETTERS	1	170	170
9	GRAFALCO BIG SMALL LETTERS	1	170	170
10	YV YELLOW DRAWING BOOK	1	50	50
11	SCHOOL ALMANAC	1	170	170
				1866

NOTEBOOKS:

S.NO	PARTICULARS	QTY	RATE	AMOUNT
1	PINK A5 1 INCH SQUARE 96 PAGES	1	45	45

TOTAL AMOUNT: 1911.00

JUNIOR KG

BOOKS DATE

S.NO	PARTICULARS	QTY.	RATE	AMOUNT
1	NEXT HINDI ADHARIKA PRIMER A	1	215	215
2	GRAFALCO AKSHAR LEKHAN	1	200	200
3	NEXT MY BOOK OF PRE MATHS CONCEPTS PRIMER A	1	109	109
4	NEXT NUMBER EXPRESS PRIMER A	1	239	239
5	NEXT THE LITTLE EXPLORER PRIMER A	1	310	310
6	NEXT LETTER DELIGHT BOOK B PRIMER A	1	149	149
7	GRAFALCO PHONIC PRIMER READER	1	160	160
8	NEXT LETTER DELIGHT BOOK C PRIMER A	1	139	139
9	YV YELLOW DRAWING BOOK	2	50	100
11	VM SCRAP BOOK	1	45	45
12	SCHOOL ALMANAC	1	170	170
13	SCHOOL WORKSHEETS MATHS	1	650	650
14	SCHOOL WORKSHEETS EVS	1	520	520
15	SCHOOL WORKSHEETS ENGLISH	1	650	650
_				3656

NOTEBOOKS:

S.NO	PARTICULARS	QTY	RATE	AMOUNT
1	YELLOW A5 R/B 192 PAGES	1	70	70
2	RED A5 FIVE LINE 192 PAGES	1	70	70
3	ORANGE A5 12 MM SQUARE 192 PAGES	1	70	70
				210

TOTAL AMOUNT : 3866.00

SENIOR KG

S.NO	PARTICULARS	QTY.	RATE	AMOUNT
1	NEXT HINDI ADHARIKA PUSTAK A	1	99	99
2	NEXT MY BOOK OF PRE MATHS CONCEPTS PRIMER B	1	100	100
3	NEXT NUMBER EXPRESS PRIMER B	1	285	285
4	NEXT THE LITTLE EXPLORER PRIMER B BOOK B	1	169	169
5	NEXT THE LITTLE EXPLORER PRIMER B BOOK A	1	209	209
6	NEXT LETTER DELIGHT BOOK A PRIMER B	1	299	299
7	VM SCRAP BOOK	1	45	45
8	YV YELLOW DRAWING BOOK	2	50	100
9	SCHOOL ALMANAC	1	170	170
10	SCHOOL WORKSHEETS MATHS	1	650	650
11	SCHOOL WORKSHEETS EVS	1	470	470
12	SCHOOL WORKSHEETS ENGLISH	1	650	650
				3246

NOTEBOOKS:

S.NO	PARTICULARS	QTY	RATE	AMOUNT
1	YELLOW A5 R/B 192 PAGES	2	70	140
2	RED A5 FIVE LINE 192 PAGES	2	70	140
3	ORANGE A5 12 MM SQUARE 192 PAGES	2	70	140
4	GREEN A5 R/B 96 PAGES	1	40	40
				460

TOTAL AMOUNT: 3706.00

BOOKS

DATE:

S.NO	PARTICULARS	QTY.	RATE	AMOUNT
1	NCERT MARIGOLD 1	1	65	65
2	S CHAND SELF LEARNING ENGLISH 1	1	185	185
3	NCERT RIMJHIM 1	1	65	65
4	AVARTAN IT VISION 1	1	229	229
5	MADHUBUN VYAKARAN SAMBODH 1	1	310	310
6	CORDOVA ENVIRONMENTAL STUDIES 1	1	450	450
7	FIVE FINGERS SHIVAI MARATHI BOOK 1	1	220	220
8	S CHAND NEW LEARNING COMPOSITE MATHS 1	1	275	275
9	FIVE FINGERS WAVES AND CURRENTS GK 1	1	220	220
10	VM SCRAP BOOK	1	45	45
11	YV YELLOW DRAWING BOOK	2	50	100
12	SCHOOL ALMANAC	1	170	170
13	SCHOOL WORKSHEETS MATHS	1	640	640
14	SCHOOL WORKSHEETS EVS	1	540	540
15	SCHOOL WORKSHEETS ENGLISH	1	650	650
16	YOGA MAT	1	310	310
				4474

NOTEBOOKS:

S.NO	PARTICULARS	QTY		RATE	AMOUNT
1	YELLOW A5 R/B 192 PAGES(ENGLISH)		3	70	210
2	YELLOW A5 R/B 96 PAGES(ENGLISH)		1	40	40
3	RED A5 FIVE LINE 192 PAGES(HINDI)		2	70	140
4	RED A5 FIVE LINE 96 PAGES(HINDI)		1	40	40
5	PURPLE A5 FIVE LINE 192 PAGES(MARATHI)		2	70	140
6	PURPLE A5 FIVE LINE 96 PAGES(MARATHI)		1	40	40
7	ORANGE A5 12 MM SQUARE 192 PAGES(MATHS)		2	70	140
8	GREEN A5 R/B 96 PAGES(EVS)		1	40	40
9	ORANGE A5 12 MM SQUARE 96 PAGES(MATHS)		1	40	40
10	GREEN A5 R/B 192 PAGES(EVS)		1	70	70
11	GREY A5 R/B 96 PAGES(COMPUTER)		2	40	80
12	WHITE A5 FOUR LINE 96 PAGES(G.K)		1	40	40
13	VM A5 SINGLE LINE 192 PAGES(CUBS & BULBUL)		1	70	70
					1090

TOTAL AMOUNT :5564.00

BOOKS

S.NO	PARTICULARS	QTY.	RATE	AMOUNT
1	NCERT MARIGOLD 2	1	65	65
2	S CHAND SELF LEARNING ENGLISH 2	1	225	225
3	NCERT RIMJHIM 2	1	65	65
4	AVARTAN IT VISION 2	1	279	279
5	MADHUBUN VYAKARAN SAMBODH 2	1	335	335
6	CORDOVA ENVIRONMENTAL STUDIES 2	1	450	450
7	FIVE FINGER SHIVAI MARATHI BOOK 2	1	230	230
8	S CHAND NEW LEARNING COMPOSITE MATHS 2	1	295	295
9	FIVE FINGERS WAVES AND CURRENTS GK 2	1	240	240
10	VM SCRAP BOOK	1	45	45
11	YV YELLOW DRAWING BOOK	2	50	100
12	SCHOOL ALMANAC	1	170	170
13	SCHOOL WORKSHEETS MATHS	1	650	650
14	SCHOOL WORKSHEETS EVS	1	530	530
15	SCHOOL WORKSHEETS ENGLISH	1	650	650
16	YOGA MAT	1	310	310
				4639

NOTEBOOKS:

S.NO	PARTICULARS	QTY	RATE	AMOUNT
1	YELLOW A5 R/B 192 PAGES(ENGLISH)	3	70	210
2	YELLOW A5 R/B 96 PAGES(ENGLISH)	1	40	40
3	RED A5 FIVE LINE 192 PAGES(HINDI)	2	70	140
4	RED A5 FIVE LINE 96 PAGES(HINDI)	1	40	40
5	PURPLE A5 FIVE LINE 192 PAGES(MARATHI)	2	70	140
	PURPLE A5 FIVE LINE 96 PAGES(MARATHI)	1	40	40
7	BLUE A5 9 MM SQUARE 192 PAGES(MATHS)	2	70	140
8	GREEN A5 R/B 96 PAGES(EVS)	1	70	70
9	BLUE A5 9 MM SQUARE 96 PAGES(MATHS)	1	40	40
10	GREEN A5 R/B 192 PAGES(EVS)	1	40	40
11	GREY A5 R/B 96 PAGES(COMPUTER)	2	40	80
12	WHITE A5 FOUR LINE 96 PAGES(G.K)	1	40	40
				1020

TOTAL AMOUNT : 5659.00

BOOKS

DATE:

S.NO	PARTICULARS	QTY.	RATE	AMOUNT
1	NCERT MARIGOLD 3	1	65	65
2	S CHAND SELF LEARNING ENGLISH 3	1	245	245
3	NCERT RIMJHIM 3	1	65	65
4	AVARTAN IT VISION 3	1	319	319
5	S CHAND NEW COMPOSITE MATHEMATICS 3	1	350	350
6	FIVE FINGERS WAVES AND CURRENTS GK 3	1	250	250
7	CORDOVA FUN WITH ENVIORNMENTAL STUDIES 3	1	470	470
8	FIVE FINGERS SHIVAI MARATHI BOOK 3	1	250	250
9	MADHUBUN VYAKARAN SAMBODH 3	1	355	355
10	VM SCRAP BOOK	1	45	45
11	YV YELLOW DRAWING BOOK	2	50	100
12	SCHOOL ALMANAC	1	170	170
13	SCHOOL WORKSHEETS MATHS	1	640	640
14	SCHOOL WORKSHEETS EVS	1	520	520
15	SCHOOL WORKSHEETS ENGLISH	1	450	450
16	YOGA MAT	1	310	310
_				4604

NOTEBOOKS:

S.NO	PARTICULARS	QTY	RATE	AMOUNT
1	YELLOW A5 R/B 192 PAGES(ENGLISH)	3	70	210
2	YELLOW A5 R/B 96 PAGES(ENGLISH)	1	30	30
3	RED A5 FIVE LINE 192 PAGES(HINDI)	2	70	140
4	RED A5 FIVE LINE 96 PAGES(HINDI)	1	30	30
5	PURPLE A5 FIVE LINE 192 PAGES(MARATHI)	2	70	140
6	PURPLE A5 FIVE LINE 96 PAGES(MARATHI)	1	30	30
7	BLUE A5 9 MM SQUARE 192 PAGES(MATHS)	2	70	140
8	GREEN A5 R/B 96 PAGES(EVS)	1	30	30
9	BLUE A5 9 MM SQUARE 96 PAGES(MATHS)	1	30	30
10	GREEN A5 R/B 192 PAGES(EVS)	2	70	140
11	GREY A5 R/B 96 PAGES(COMPUTER)	2	30	60
12	WHITE A5 R/B 96 PAGES(G.K)	1	30	30
				1010

TOTAL AMOUNT: 5614.00

BOOKS

S.NO	PARTICULARS	QTY.	RATE	AMOUNT
1	NCERT MARIGOLD 4	1	65	65
2	S CHAND SELF LEARNING ENGLISH 4	1	275	275
3	NCERT RIMJHIM 4	1	65	65
4	AVARTAN IT VISION 4	1	339	339
5	S CHAND NEW LEARNING COMPOSITE MATHS 4	1	410	410
6	FIVE FINGERS WAVES AND CURRENTS GK 4	1	270	270
7	CORDOVA FUN WITH ENVIORNMENTAL STUDIES 4	1	480	480
8	MADHUBUN VYAKARAN SAMBODH 4	1	390	390
9	FIVE FINGERS SHIVAI MARATHI 4	1	260	260
10	VM SCRAP BOOK	1	45	45
11	VM YELLOW DRAWING BOOK	2	50	100
12	SCHOOL ALMANAC	1	170	170
13	SCHOOL WORKSHEETS MATHS	1	660	660
14	SCHOOL WORKSHEETS EVS	1	530	530
15	SCHOOL WORKSHEETS ENGLISH	1	540	540
16	YOGA MAT	1	310	310
				4909

NOTEBOOKS:

S.NO	PARTICULARS	QTY	RATE	AMOUNT
1	YELLOW A5 DOUBLE LINE 192 PAGES(ENGLISH)	3	70	210
2	YELLOW A5 DOUBLE LINE 96 PAGES(ENGLISH)	1	40	40
3	RED A5 DOUBLE LINE 192 PAGES(HINDI)	2	70	140
4	RED A5 DOUBLE LINE 96 PAGES(HINDI)	1	40	40
5	PURPLE A5 DOUBLE LINE 192 PAGES(MARATHI)	2	70	140
	PURPLE A5 DOUBLE LINE 96 PAGES(MARATHI)	1	40	40
7	BLUE A5 9 MM SQUARE 192 PAGES	3	70	210
8	BLUE A5 9 MM SQUARE 96 PAGES	1	40	40
9	GREEN A5 DOUBLE LINE 192 PAGES(EVS)	2	70	140
10	GREEN A5 DOUBLE LINE 96 PAGES(EVS)	1	40	40
11	GREY A5 DOUBLE LINE 96 PAGES(COMPUTER)	2	40	80
12	WHITE A5 DOUBLE LINE 96 PAGES(G.K)	1	40	40
13	VM A5 SINGLE LINE 96 PAGES(MUSIC)	1	40	40
				1200

TOTAL AMOUNT : 6109.00

BOOKS

S.NO	PARTICULARS	QTY.	RATE	AMOUNT
1	NCERT MARIGOLD 5	1	65	65
2	S CHAND SELF LEARNING ENGLISH 5	1	305	305
3	NCERT RIMJHIM 5	1	65	65
4	AVARTAN IT VISION 5	1	379	379
5	S CHAND NEW LEARNING COMPOSITE MATHS 5	1	440	440
6	FIVE FINGERS WAVES AND CURRENTS GK 5	1	290	290
7	CORDOVA FUN WITH ENVIORNMENTAL STUDIES 5	1	490	490
8	MADHUBUN VYAKARAN SAMBODH 5	1	395	395
9	FIVE FINGERS SHIVAI MARATHI BOOK 5	1	270	270
10	VM SCRAP BOOK	1	45	45
11	VM BROWN DRAWING BOOK	2	75	150
12	SCHOOL ALMANAC	1	170	170
13	SCHOOL WORKSHEETS MATHS	1	640	640
14	SCHOOL WORKSHEETS EVS	1	400	400
15	SCHOOL WORKSHEETS ENGLISH	1	400	400
16	YOGA MAT	1	310	310
				4814

NOTEBOOKS:

S.NO	PARTICULARS	QTY	RATE	AMOUNT
1	YELLOW KING SIZE SINGLE LINE 192 PAGES(ENGLISH)	3	80	240
2	YELLOW A5 SINGLE LINE 96 PAGES(ENGLISH)	1	50	50
	RED A5 SINGLE LINE 192 PAGES(HINDI)	2	80	160
4	RED A5 SINGLE LINE 96 PAGES(HINDI)	1	50	50
	PURPLE A5 SINGLE LINE 96 PAGES(MARATHI)	1	50	50
	PURPLE A5 SINGLE LINE 192 PAGES(MARATHI)	2	80	160
7	BLUE A5 SINGLE LINE 192 PAGES(MATHS)	4	80	320
8	BLUE A5 SINGLE LINE 96 PAGES(MATHS)	1	50	50
9	GREEN A5 SINGLE LINE 192 PAGES(SCIENCE)	2	80	160
10	GREEN A5 SINGLE LINE 96 PAGES(SCIENCE)	1	50	50
11	GREY A5 SINGLE LINE 96 PAGES(COMPUTER)	2	50	100
12	WHITE A5 SINGLE LINE 96 PAGES(GK)	1	50	50
	VM A5 SINGLE LINE 96 PAGES(MUSIC)	1	50	50
14	VM A5 SINGLE LINE 192 PAGES(C & B)	1	80	80
				1570

TOTAL AMOUNT : 6384.00

